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Name:
Contemporary urban environments
Urban Change:  deindustrialisation, decentralisation, rise of service economy
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RECAP TASK:  Complete the following.
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TASK:  Use your pre-work to define the key term De-industrialisation:  






Deindustrialisation
Task:  Use your pre-work to identify the 3 main factors that caused of deindustrialisation.
 .


Impacts of deindustrialisation
[image: ]

The Inner City Spiral of Decline
[image: Scan10037]Deindustrialisation meant long-term unemployment in previously industrial cities e.g. London, Detroit leading to longer term social problems. 
TASK:  Does Detroit show evidence of the inner city spiral of decline?  Use your pre-work to find evidence to support your answer.








[image: ]Urban Change in the UK 

TASK:  What trends does the table show?








How could you show manipulation of data in your answer?





Decentrialisation
TASK:  Write down the key term definition:
Decentralisation - 





· Manufacturing cities and inner city areas were most affected.  Name examples we have studied.
· Inner cities lacked suitable land for expansion of existing manufacturing 
· New investment focussed on the edge of urban areas or more rural locations.
· This movement was part of a wider process ‘decentralisation’ which also affected residential and retail land us in the late 20th century. 



TASK:  Study the map of Guildford and label examples of decentralisation.
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TASK:  What factors have affected decentralisation?











The Rise of the Service Economy
[image: ]
TASK: Analyse the graph showing the structural shift in employment (1841-2011).
P – Pattern	A – Anomalies		D – Data (manipulation)	L - Links



















The decline in the manufacturing employment in the late 20th century was accompanied by the rise of the service economy.
The service economy covers a range of activities including:
· Tertiary activities:  financial services e.g. banking, accountancy and insurance.
· Quaternary activities:  knowledge and ideas are the main output e.g. advertising, computer programming, software design.

TASK: What caused the rise of Service Economy?








TASK:  Whilst the growth in the service sector has reduce unemployment why has it not solved all the problems of de-industrialisation in urban areas?  Consider examples we have studied.
















Cambridge Science Park
[image: ]TASK:  Study the map and suggest reasons why the Cambridge Science Park is located here.









[bookmark: _GoBack][image: ]
TASK:  Look at the list of companies at www.cambridge.sciencepark.co.uk/company-directory
· Summarise the types of industry that are located at Cambridge Science Park and name examples.



· Suggest reasons why these industries have located in Cambridge Science Park?




TASK:  Complete the following.
[image: ]
TASK:  Complete the following Exam Questions.
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‘fable 9.2 Trends in manufacturing employment in the UK, 1978-2015

Number of employees (thousand:

1978 ] 6,711 |
1980 [ 6,403

1985 i 5,071 ]
1990 [ ) 4,908 i
1995 ! 4201 )

2000 i 3,991 1
2005 1 3113 ]
2010 I 2,563 i
2015 2658 B
Source: ONS

and Sheffield suffered more extensive job losses than cities
with more diverse economies.

There was also significant variation within cities
Inner city areas contained many of the old types of
workplace most likely to be closed — old plants with
the oldest production techniques, lowest productivity
and most unionised workforces. Inner city areas also
lacked suitable land for the expansion of existing
manufacturing and, as a result, new investment
tended to focus on the edge of urban areas or more
rural locations. This movement of industry away from
the inner city was part of a wider process known as
decentralisation, which also affected residential and
retail land use in th it
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Chapter9 Contemporary urban environments

service economy in urban areas. The service economy

covers a wide range of activities including;

® tertiary activities such as financial services (for
example, banking, accountancy and insurance),
retailing, leisure, transport, education and health

® quaternary activities where knowledge or ideas
are the main output, such as advertising, computer
programming and software design.

Population growth fuels the service sector but it has

also grown because:

@ financial services are needed to support
manufacturing industries, which are still important
in many cities today

® as societies become more technologically
sophisticated, they need a larger range of specialised
services to keep them running

® as societies become wealthier, they demand more
leisure and retail services.

The expansion of the service sector has been evident in
cities all over the world and for many urban areas there
has been a dramatic shift in their economic core from
manufacturing to service-based activities. The major
financial centres are all located in world cities while
corporate headquarters cluster in urban areas where
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True or False?

A ‘megacity’ and a ‘world city’ refer to the same thing

Counter-urbanisation is the movement of people out to the edge of the city

An urban ‘function’ refers to a dominant activity that characterises a city

Many cities in the UK have required regeneration because of de-industrialisation

mlo[o[e[>[o
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The ‘service economy’ refers to tourism and leisure where customers are served
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[0T3].[3] Which of the following describes the process of decentralisation?
[1 mark]

A ltis now cheaper to manufacture steel in China due to the nearby
availability of raw materials and large low-cost supply of labour. This
has resulted in the closure of steel plants such as Tata Steel in Redcar.

B In Notting Hill, individuals moved into large slum houses and beganto [ < |
redevelop them. House prices began to rise and landlords, realising
they could make a quick profit, sold these houses to private property
developers. There are also many boutiques and gastropubs in the
area.

C Decline in manufacturing in the UK has led to the rise of the service [ < |
economy in urban areas. This has occurred due to the increased
technology demands of a consumer society. As a result more people
work in quaternary-based ICT industries than manufacturing.

D Inthe UK, the government encouraged the relocation of government
agencies and public bodies away from London. Examples include the
DVLA relocating to Swansea and the BBC moving to Media City in
Salford.
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Distinguish between deindustrialisation and decentralisation. 3 marks
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Figure 5 shows employment and manufacturing output data for Japan, USA and
Sweden between 1970 and 2010

Figure 5
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4] Analyse the data presented in Figure 5.

[6 marks]
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Contemporary urban environments

. Urban change: deindustrialisation,
decentralisation, rise of service economy.

Learning Objectives:

* Describe and explain the processes of
deindustrialisation, decentralisation and rise of

service economy.
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